Al [EXZ/Fz 27U —VBE] oBhitA

OBt EL1EZEHIZY (B : 1)
mﬁ 7 — B

UERH s34 BRI ) — B e 4E 5 — e

= =~ N B R 3,690 2,270 1,560 710
) m o~ E piezs 3,940 2,270 1,560 710
= =~ = g 4,280 2,270 1,560 710
) R~ B L 5,370 3,030 2,320 710
= =~ % = 6,140 3,030 2,320 710
) =~ # I 7,680 3,890 3,180 710
= =~ K 0 8,120 3,890 3,180 710
) mn~2 1% 8,780 3,890 3,180 710
= =~ = W R W 9,100 4,010 3,200 810
) R~% B E 9,170 4,010 3,200 810
&= =~ e e 9,750 4,250 3,440 810
) m~ X 5 10,800 4,720 3,910 810
= =~ = " 11,200 5,020 4210 810
® m~#H KX Bk 11,410 5,050 4240 810
2 i ~/n B & 3,500 2,270 1,560 710
) JII ~ 2 piezs 3,940 2,270 1,560 710
2 N~ = g 4,280 2,270 1,560 710
) N ~%# = =L 5,370 3,030 2,320 710
2 N~ % A 6,140 3,030 2,320 710
) N~ $# il 7,680 3,890 3,180 710
2 N~ & 1 8,120 3,890 3,180 710
) N~ 2 12 8,780 3,890 3,180 710
2 N~ =5 & 8 9,100 4,010 3,200 810
e} n~% & E 9,170 4,010 3,200 810
oA N~ 83 5 9,750 4,250 3,440 810
e} N~ % IR 10,800 4,720 3,910 810
oA JII ~ R R 11,200 5,020 4,210 810
e} N ~%# K KR 11,410 5,050 4,240 810
B R~ # i 3,500 2,270 1,560 710
ooE R~ = = 3,860 2,270 1,560 710
E OE~% B8 L 4,910 3,030 2,320 710
oW R~ E [if] 5,570 3,030 2,320 710
B R~ # I 7,340 3,890 3,180 710
oo R~k N 7,680 3,890 3,180 710
roE R~ 2 1% 8,440 3,890 3,180 710
oo R~ Z A" W 8,930 3,990 3,180 810
rE OE~% & E 9,060 3,990 3,180 810
oEOE~EBEPE 9,570 4,210 3,400 810
OB R~ K IR 10,360 4,550 3,740 810
oE OE~ X R 11,100 4,920 4110 810
E OE~H K K 11,310 5,050 4,240 810
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N E R~ = g 2,850 2,270 1,560 710
NHEH B~ B L 3,330 2,270 1,560 710
N OE OB~ % i 3,860 2,270 1,560 710
NoHB R~ # I 5,570 3,030 2,320 710
N B R~ R i 6,010 3,030 2,320 710
MNoH R~ 2 15 7,550 3,890 3,180 710
N E R~ =A% R 8,320 3,890 3,180 710
hNHEH BR~% & E 8,780 3,890 3,180 710
N EOBE~KBET S 9,490 4,210 3,400 810
ANOH R~ K 5 10,240 4,550 3,740 810
N B OB~ R B 10,650 4,790 3,980 810
NoH OB ~H K R 11,100 4,960 4,150 810
# m~ % B + 2,940 2,270 1,560 710
2 o~ B fif] 3,500 2,270 1,560 710
# B~ f I 5,250 3,030 2,320 710
2 B~k N 5,570 3,030 2,320 710
# m~ B 1% 6,350 3,030 2,320 710
2 B~ = A T 7,880 3,890 3,180 710
# m~ % & B 8,440 3,890 3,180 710
2 B~ B PE 8,980 3,890 3,180 710
# W ~ K% B 9,960 4,440 3,630 810
2 B~ R el 10,480 4,730 3,920 810
# B~ A IR 10,920 4,890 4,080 810
= g ~ # I 4910 3,030 2,320 710
= B ~ & TN 5,250 3,030 2,320 710
= g~ 2 5 6,010 3,030 2,320 710
= B ~ = H & 7,550 3,890 3,180 710
= E~% B E 8,120 3,890 3,180 710
= E~IEEPS 8,650 3,890 3,180 710
= B ~ XK = 9,680 4,300 3,490 810
= B~ =R R 9,860 4,400 3,590 810
= B ~#H KX B 10,650 4,780 3,970 810
o E £~ # I 3,690 2,270 1,560 710
n 8 £~ & N 4910 3,030 2,320 710
E £~ 2 15 5,570 3,030 2,320 710
noE L ~Z=A%H 6,350 3,030 2,320 710
2 £t~% & E 7,340 3,890 3,180 710
nE T ~HEEBEPE 8,320 3,890 3,180 710
o E £~ X IR 8,980 3,890 3,180 710
T B £~ X B3 9,680 4,260 3,450 810
T2 £ ~%H K K 10,480 4,730 3,920 810
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= M~ 2 15 4910 3,030 2,320 710
g [ ~ = 58 & 5,570 3,030 2,320 710
= M ~% & B 6,350 3,030 2,320 710
g M~ kBB 7,550 3,890 3,180 710
% A~ % B 8,650 3,890 3,180 710
i M ~ &= i 9,040 3,990 3,180 810
# M~ % x K 9,170 4,060 3,250 810
# N~ 2 5 3,330 2,270 1,560 710
i N~ =57 & 8 4,910 3,030 2,320 710
# n~% & E 5,250 3,030 2,320 710
i N~ I & 5 & 6,010 3,030 2,320 710
# N~ K R 7,550 3,890 3,180 710
i N~ = 3 8,780 3,890 3,180 710
# N ~%# K R 9,030 3,990 3,180 810
W~ = & & § 3,500 2,270 1,560 710
AT w~% & E 4910 3,030 2,320 710
W~ e B 5,250 3,030 2,320 710
AT M o~ K = 6,350 3,030 2,320 710
m~ = " 8,120 3,890 3,180 710
Pz W~ K R 8,780 3,890 3,180 710
& 5~ K& J B 4,910 3,030 2,320 710
g 5 ~ XK = 5,570 3,030 2,320 710
& B~ = = 7,340 3,890 3,180 710
2 B~ K B 8,440 3,890 3,180 710
ZARH ~IEEPE 3,160 2,270 1,560 710
= &~ K = 4910 3,030 2,320 710
Z A B~ R R 6,010 3,030 2,320 710
ZA R~ K KR 7,680 3,890 3,180 710
L B B~ XK IR 3,500 2,270 1,560 710
& B B~ = 3 5,320 2,780 2,070 710
L B EBE~#H K K 6,090 2,780 2,070 710
I B2PE ~ K R 4,650 2,780 2,070 710
I BEPE ~H K K 5,320 2,780 2,070 710
PN B’ ~%3 KX K 4,650 2,780 2,070 710




